# On a boundary value problem with spectral parameter quadratically contained in the boundary condition

Guldane S. Mammedzadeh

Received: 13.08.2021 / Revised: 23.01.2022 / Accepted: 05.03.2022

**Abstract.** A boundary value problem generated on an interval by a diffusion equation with real coefficients and nonseparated boundary conditions is considered. One of these boundary conditions includes the quadratic function of the spectral parameter. Some spectral properties of the boundary value problem are studied. It is proved that the eigenvalues are real and nonzero and that there are no associated functions to the eigenfunctions, and an asymptotic formula for the spectrum of the problem is derived.

Keywords. diffusion equation, nonseparated boundary conditions, eigenvalues, asymptotics.

Mathematics Subject Classification (2010): 34A55, 34B24, 34L40

#### **1** Introduction

Consider the boundary value problem generated on the interval  $[0, \pi]$  by the diffusion differential equation

$$y'' + [\lambda^2 - 2\lambda p(x) - q(x)]y = 0$$
(1.1)

and boundary conditions

$$(m\lambda^{2} + \alpha\lambda + \beta)y(0) + y'(0) + \omega y(\pi) = 0, -\bar{\omega}y(0) + \gamma y(\pi) + y'(\pi) = 0,$$
(1.2)

where the functions  $p(x) \in W_2^1[0, \pi]$ ,  $q(x) \in L_2[0, \pi]$  are real,  $\lambda$  is a spectral parameter,  $\omega$  is a complex number,  $\bar{\omega}$  is the complex conjugate of  $\omega$ ,  $m, \alpha$ ,  $\beta$ ,  $\gamma$  are the real numbers. We denote by  $W_2^n[0, \pi]$  the S.L. Sobolev space of functions f(x),  $x \in [0, \pi]$ , where the functions  $f^{(m)}(x)$ , m = 0, 1, 2, ..., n - 1, are absolutely continuous and  $f^{(n)}(x) \in L_2[0, \pi]$ . Problem (1.1) - (1.2) will be denoted by P.

For  $\omega = 0$ , the boundary conditions (1.2) are separated. In this case, the spectral properties of the Sturm-Liouville and diffusion operators were studied in [2–5,9,13,16–18,20] and other works. In [1,6–8,10–12,15,16,19,21] direct and inverse spectral problems for equation (1.1) (for  $p(x) \equiv 0$  and  $p(x) \not\equiv 0$ ) with various types of nonseparated boundary conditions are investigated.

In this paper some spectral properties of the boundary value problem P in case  $m\omega \neq 0$ , when one of the nonseparated boundary conditions contains a quadratic function of the spectral parameter are studied. It is proved that the eigenvalues are real and nonzero and that there are no associated functions to the eigenfunctions, and an asymptotic formula for the spectrum of the problem P is derived.

E-mail: guldane.mammedzadeh@mail.ru

G.S. Mammedzadeh

Azerbaijan State Economic University, Baku, Azerbaijan

### 2 Some spectral properties of the boundary value problem P

In this section we will assume everywhere that m > 0 and the following condition is satisfied: for all functions  $y(x) \in W_2^2[0, \pi]$ ,  $y(x) \neq 0$  satisfying conditions (1.2), the following inequality holds:

$$Q = \gamma |y(\pi)|^{2} - 2\omega Re\left[\overline{y(0)} y(\pi)\right] - \beta |y(0)|^{2} + \int_{0}^{\pi} \left\{ |y'(x)|^{2} + q(x) |y(x)|^{2} \right\} dx > 0.$$
(2.1)

Note that inequality (2.1) is certainly satisfied if

$$\beta \leq 0, \ \gamma \geq 0, \ |\omega| \leq \sqrt{|\beta| \gamma}, \ q(x) > 0.$$

Indeed, for q(x) > 0 the integral in (2.1) is positive. It's clear that

$$Re\left[\omega \overline{y(0)}y(\pi)\right] \le |\omega| \cdot |y(0)| \cdot |y(\pi)|.$$

Then the expression in (2.1) outside the integral is nonnegative, since for  $\beta \leq 0, \gamma \geq 0, |\omega| \leq \sqrt{|\beta|\gamma}$  we have

$$\begin{aligned} &-\beta |y(0)|^2 - 2Re \left[ \omega \overline{y(0)} y(\pi) \right] + \gamma |y(\pi)|^2 \\ &\geq -\beta |y(0)|^2 - 2 |\omega| \cdot |y(0)| \cdot |y(\pi)| + \gamma |y(\pi)|^2 \\ &\geq |\beta| \cdot |y(0)|^2 - 2\sqrt{|\beta| \gamma} |y(0)| \cdot |y(\pi)| + \gamma |y(\pi)|^2 \\ &= \left[ \sqrt{|\beta|} |y(0)| - \sqrt{\gamma} |y(\pi)| \right]^2 \geq 0. \end{aligned}$$

**Definition 2.1** A complex number  $\lambda_0$  is called an eigenvalue of a boundary value problem P, if the equation (1.1) has a nontrivial solution  $y_0(x)$  for  $\lambda = \lambda_0$  that satisfies boundary conditions (1.2); in this case  $y_0(x)$  is called the eigenfunction of the problem P which corresponds to the eigenvalue  $\lambda_0$ . The set of eigenvalues is called the spectrum of the problem P. Functions

$$y_1(x), y_2(x), ..., y_r(x)$$

are called associated functions of the eigenfunction  $y_0(x)$  if these functions have an absolutely continuous derivative and satisfy the differential equations

$$y_{j}''(x) + \left[\lambda_{0}^{2} - 2\lambda p(x) - q(x)\right] y_{j}(x) + \left[2\lambda_{0} - 2p(x)\right] y_{j-1}(x) + y_{j-2}(x) = 0$$

and boundary conditions

$$(m\lambda_0^2 + \alpha\lambda_0 + \beta)y_j(0) + y'_j(0) + \omega y_j(\pi) + (2m\lambda_0 + \alpha)y_{j-1}(0) + my_{j-2}(0) = 0, -\bar{\omega}y'_j(0) + \gamma y_j(\pi) + y'_j(\pi) = 0, j = 1, 2, 3, ..., r \quad (y_{-1}(x) \equiv 0).$$
(2.2)

**Theorem 2.1** The eigenvalues of the boundary value problem P are real and nonzero.

**Proof.** Let  $\lambda_0$  be the eigenvalue of the problem P and  $y_0(x)$  be the corresponding eigenfunction. We put

$$ly_0 = -y_0''(x) + q(x)y_0(x).$$

We denote by (f, g) the usual scalar product of functions f(x) and g(x) in space  $L_2[0, \pi]$ :

$$(f,g) = \int_0^{\pi} f(x)\overline{g(x)}dx.$$

Scalarly multiplying both sides of the equality

$$y_0''(x) + (\lambda_0^2 - 2\lambda_0 p(x) - q(x))y_0(x) = 0$$

by  $y_0(x)$ , we get

$$(y_0'', y_0) + \lambda_0^2(y_0, y_0) - 2\lambda_0(py_0, y_0) - (qy_0, y_0) = 0$$

The last equality can be rewritten as

$$\lambda_0^2(y_0, y_0) - 2\lambda_0(py_0, y_0) - (ly_0, y_0) = 0,$$
(2.3)

It is obvious that

$$(ly_0, y_0) = \int_0^{\pi} \left( -y_0''(x) + q(x)y_0(x) \right) \overline{y_0(x)} dx$$
  
=  $-\int_0^{\pi} y_0''(x) \overline{y_0(x)} dx + \int_0^{\pi} q(x) |y_0(x)|^2 dx.$  (2.4)

Applying the formula of integration by parts to the integral  $\int_{0}^{\pi} y_{0}''(x) \overline{y_{0}(x)} dx$ , we have

$$\int_0^{\pi} \overline{y_0(x)} d(y'_0(x)) = \overline{y_0(x)} y'_0(x) \Big|_0^{\pi} - \int_0^{\pi} y'_0(x) d(\overline{y_0(x)})$$
$$= \overline{y_0(\pi)} y'(\pi) - \overline{y_0(0)} y'(0) - \int_0^{\pi} |y'_0(x)|^2 dx.$$

Therefore, relation (2.4) can be written as follows:

$$(ly_0, y_0) = y'_0(0) \ \overline{y_0(0)} - y'_0(\pi) \ \overline{y_0(\pi)} + \int_0^\pi \left( \left| y'_0(x) \right|^2 + q(x) \left| y_0(x) \right|^2 \right) dx.$$
 (2.5)

According to the boundary conditions (1.2)

$$y_0'(0) = -\omega y_0(\pi) - (m\lambda_0^2 + \alpha\lambda_0 + \beta)y_0(0), y_0'(\pi) = \bar{\omega}y_0(0) - \gamma y_0(\pi).$$

Then

$$\begin{split} y_{0}'(0) \overline{y_{0}(0)} - y_{0}'(\pi) \overline{y_{0}(\pi)} &= \overline{y_{0}(0)} \left( -\omega y_{0}(\pi) - (m\lambda_{0}^{2} + \alpha\lambda_{0} + \beta)y_{0}(0) \right) \\ -\overline{y_{0}(\pi)} \left( \bar{\omega}y_{0}(0) - \gamma y_{0}(\pi) \right) &= -\overline{y_{0}(0)} \omega y_{0}(\pi) - |y_{0}(0)|^{2} \left( m\lambda_{0}^{2} + \alpha\lambda_{0} + \beta \right) \\ -\overline{y_{0}(\pi)} \overline{\omega}y_{0}(0) + \gamma |y_{0}(\pi)|^{2} &= -|y_{0}(0)|^{2} \left( m\lambda_{0}^{2} + \alpha\lambda_{0} + \beta \right) \\ -2Re(\omega \overline{y(0)}y(\pi)) + \gamma |y_{0}(\pi)|^{2} \,. \end{split}$$

Taking into account the last relation in (2.5), we have

$$(ly_0, y_0) = -|y_0(0)|^2 (m\lambda_0^2 + \alpha\lambda_0 + \beta) - 2Re(\omega\overline{y(0)}y(\pi)) + \gamma |y_0(\pi)|^2 + A, \quad (2.6)$$

where  $A = \int_0^{\pi} [|y'_0(x)|^2 + q(x) |y_0(x)|^2] dx$ . Substituting (2.6) into (2.3), we obtain

$$\lambda_0^2(y_0, y_0) - 2\lambda_0(py_0, y_0) + |y_0(0)|^2 (m\lambda_0^2 + \alpha\lambda_0 + \beta) + 2Re(\omega\overline{y(0)}y(\pi))$$
  
$$-\gamma |y_0(\pi)|^2 - A = \lambda_0^2(y_0, y_0) - 2\lambda_0(py_0, y_0) + m\lambda_0^2 |y_0(0)|^2 + \alpha\lambda_0 |y_0(0)|^2$$
  
$$+ |\beta y_0(0)|^2 + 2Re(\omega\overline{y(0)}y(\pi)) - \gamma |y_0(\pi)|^2 - A = 0$$

or

$$\lambda_0^2 \left[ (y_0, y_0) + m |y_0(0)|^2 \right] - \lambda_0 \left[ 2(py_0, y_0) - \alpha |y_0(0)|^2 \right] - \left[ -\beta |y_0(0)| -2Re(\omega \overline{y(0)} |y(\pi)) + \gamma |y_0(\pi)|^2 + A \right] = 0.$$
(2.7)

We denote

$$V = (y_0, y_0) + m |y_0(0)|^2, R = 2(py_0, y_0) - \alpha |y_0(0)|^2,$$
(2.8)

Taking into account (2.1) and (2.8), from (2.7) we obtain the following quadratic equation for  $\lambda_0$ :

$$V\lambda_0^2 - R\lambda_0 - Q = 0. \tag{2.9}$$

It follows from inequalities m > 0 and (2.1) that VQ > 0, and therefore the discriminant  $R^2 + 4VQ$  of the quadratic equation (2.9) is positive. Therefore, the roots of equation (2.9) are real and nonzero. The theorem is proved.

**Corollary 2.1** If  $y_0(x)$  is the eigenfunction of the problem *P* corresponding to the eigenvalue  $\lambda_0$ , then

$$2V\lambda_0 - R \neq 0, \tag{2.10}$$

where V and R are determined by equalities (2.8). Moreover, the sign of the left side of this inequality coincides with the sign of  $\lambda_0$ :

$$\operatorname{sign}\left(2V\lambda_0 - R\right) = \operatorname{sign}\lambda_0. \tag{2.11}$$

**Proof.** Solving equation (2.9), we obtain

$$\lambda_0 = \frac{R \pm \sqrt{R^2 + 4VQ}}{2V}.\tag{2.12}$$

Since  $R^2 + 4VQ > 0$ , it follows from (2.12) that

$$2V\lambda_0 - R = \pm\sqrt{R^2 + 4VQ} \neq 0.$$

Therefore, (2.10) holds. It is also clear from (2.12), that for  $\lambda_0 > 0$  there must be a "+" sign in front of the root, and for  $\lambda_0 < 0$  there must be a "-" sign. From here we find that the sign of the expression  $2V\lambda_0 - R$  coincides with the sign of  $\lambda_0$ , i.e. equality (2.11) is true, which should have been proved.

**Theorem 2.2** *The boundary value problem P has no associated functions of the eigenfunc-tions.* 

**Proof.** Let us assume the opposite. Let us suppose there is an associated function  $y_1(x)$  of the eigenfunction  $y_0(x)$  of problem P, which corresponds to the eigenvalue  $\lambda_0$ . Then the equalities

$$y_0''(x) + \left[\lambda_0^2 - 2\lambda_0 p(x) - q(x)\right] y_0(x) = 0, \qquad (2.13)$$

$$y_1''(x) + \left[\lambda_0^2 - 2\lambda_0 p(x) - q(x)\right] y_1(x) + \left[2\lambda_0 - 2p(x)\right] y_0(x) = 0$$
(2.14)

hold.

Let us pass in equality (2.13) to the complex conjugate and then multiply the resulting equality by  $y_1(x)$ , and multiply relation (2.14) by  $\overline{y_0(x)}$ .

$$\overline{y_0''(x)}y_1(x) + \left[\lambda_0^2 - 2\lambda_0 p(x) - q(x)\right]\overline{y_0(x)}y_1(x) = 0,$$

 $y_1''(x)\overline{y_0(x)} + \left[\lambda_0^2 - 2\lambda_0 p(x) - q(x)\right]\overline{y_0(x)}y_1(x) + \left[2\lambda_0 - 2p(x)\right]y_0(x)\overline{y_0(x)} = 0.$ 

Subtract the second result from the first:

$$2\left[\lambda_0 - p(x)\right]y_0(x)\overline{y_0(x)} = \overline{y_0''(x)}y_1(x) - y_1''(x)\overline{y_0(x)}.$$

The last equality can be rewritten as

$$2 \left[\lambda_0 - p(x)\right] |y_0(x)|^2 = \frac{d}{dx} \left[ \overline{y'_0(x)} y_1(x) - y'_1(x) \overline{y_0(x)} \right].$$

After integrating this relation over x from 0 to  $\pi$ , we get

$$2\int_{0}^{\pi} [\lambda_{0} - p(x)] |y_{0}(x)|^{2} dx = \left[\overline{y_{0}'(x)}y_{1}(x) - y_{1}'(x)\overline{y_{0}(x)}\right] \begin{vmatrix} \pi \\ 0 \end{vmatrix}$$
$$= \overline{y_{0}'(\pi)}y_{1}(\pi) - \overline{y_{0}'(0)}y_{1}(0) - y_{1}'(\pi)\overline{y_{0}(\pi)} + y_{1}'(0)\overline{y_{0}(0)}. \tag{2.15}$$

From the boundary conditions (1.2) and (2.2) for  $y_0(x)$  and  $y_1(x)$  we find  $y'_0(0)$ ,  $y'_0(\pi)$ ,  $y'_1(0)$ ,  $y'_1(\pi)$  and substitute in (2.15):

$$2\int_{0}^{\pi} [\lambda_{0} - p(x)] |y_{0}(x)|^{2} dx = \left(\omega \overline{y_{0}(0)} - \gamma \overline{y_{0}(\pi)}\right) y_{1}(\pi) + \left[(m\lambda_{0}^{2} + \alpha\lambda_{0} + \beta)\overline{y_{0}(0)} + \overline{\omega}\overline{y_{0}(0)}\right] \\ + \overline{\omega}\overline{y_{0}(\pi)} y_{1}(0) - [\bar{\omega}y_{1}(0) - \gamma y_{1}(\pi)] \overline{y_{0}(\pi)} - \left[(m\lambda_{0}^{2} + \alpha\lambda_{0} + \beta)y_{1}(0) + \omega y_{1}(\pi) + (2m\lambda_{0} + \alpha)y_{0}(0)\right] \overline{y_{0}(0)} = \omega \overline{y_{0}(0)}y_{1}(\pi) - \gamma \overline{y_{0}(\pi)}y_{1}(\pi) + m\lambda_{o}^{2}\overline{y_{0}(0)}y_{1}(0) \\ + \alpha \overline{y_{0}(0)}y_{1}(0) + \overline{\omega}\overline{y_{0}(\pi)}y_{1}(0) + \beta y_{1}(0)\overline{y_{0}(0)} - \overline{\omega}y_{1}(0)\overline{y_{0}(\pi)} + \gamma y_{1}(\pi)\overline{y_{0}(\pi)} \\ - m\lambda_{0}^{2}y_{1}(0)\overline{y_{0}(0)} - \alpha\lambda_{0}y_{1}(0)\overline{y_{0}(0)} - \beta y_{1}(0)\overline{y_{0}(0)} - \omega y_{1}(\pi)\overline{y_{0}(0)} \\ - 2m\lambda_{0}y_{0}(0)\overline{y_{0}(0)} - \alpha y_{0}(0)\overline{y_{0}(0)} = -(2m\lambda_{0} + \alpha)|y_{0}(0)|^{2}.$$

From this we get

$$2\int_0^{\pi} \left[\lambda_0 - p(x)\right] |y_0(x)|^2 dx + (2m\lambda_0 + \alpha) |y_0(0)|^2 = 0$$

or  $2V\lambda_0 - R = 0$  (see [11]), which contradicts the inequality (2.10). The theorem is proved.

#### **3** Asymptotics of the eigenvalues

Let  $c(x, \lambda)$ ,  $s(x, \lambda)$  be the fundamental system of solutions of equation (1.1), determined by the initial conditions

$$c(0,\lambda) = s'(0,\lambda) = 1, c'(0,\lambda) = s(0,\lambda) = 0.$$
(3.1)

For any x the functions  $c(x, \lambda)$ ,  $s(x, \lambda)$ ,  $c'(x, \lambda)$ ,  $s'(x, \lambda)$  are entire functions (of exponential type) of the variable  $\lambda$ . The general solution of equation (1.1) is written as

$$y(x, \lambda) = A_1 c(x, \lambda) + A_2 s(x, \lambda), \qquad (3.2)$$

where  $A_1$ ,  $A_2$  – are arbitrary constants. Taking into account the initial conditions (3.1), we obtain

$$y(0, \lambda) = A_1 c(0, \lambda) + A_2 s(0, \lambda) = A_1,$$
  
$$y'(0, \lambda) = A_1 c'(0, \lambda) + A_2 s'(0, \lambda) = A_2.$$

Substituting function (3.2) into boundary conditions (1.2) and using the last relations, we obtain the following system for  $A_1$  and  $A_2$ :

$$\begin{cases} A_1 \left[ m\lambda^2 + \alpha\lambda + \beta + \omega c\left(\pi, \lambda\right) \right] + A_2 \left[ 1 + \omega s\left(\pi, \lambda\right) \right] = 0, \\ A_1 \left[ -\bar{\omega} + \gamma c\left(\pi, \lambda\right) + c'\left(\pi, \lambda\right) \right] + A_2 \left[ \gamma s\left(\pi, \lambda\right) + s'\left(\pi, \lambda\right) \right] = 0. \end{cases}$$

For the number  $\lambda$  to be an eigenvalue of the boundary value problem P, it is necessary and sufficient that the last system has a nonzero solution. But this system has a nonzero solution if and only if its determinant is equal to zero. Therefore, the eigenvalues of the boundary value problem P coincide with the zeros of the function

$$\Delta(\lambda) = \begin{vmatrix} m\lambda^2 + \alpha\lambda + \beta + \omega c(\pi, \lambda) & 1 + \omega s(\pi, \lambda) \\ -\bar{\omega} + \gamma c(\pi, \lambda) + c'(\pi, \lambda) & \gamma s(\pi, \lambda) + s'(\pi, \lambda) \end{vmatrix}.$$

This function is called the characteristic function of the problem *P*. Let us expand this determinant and take into account the identity  $c(x, \lambda) s'(x, \lambda) - c'(x, \lambda) s(x, \lambda) = 1$ :

$$\begin{split} & \Delta(\lambda) = \left[m\lambda^2 + \alpha\lambda + \beta + \omega c\left(\pi, \lambda\right)\right] \cdot \left[\gamma s\left(\pi, \lambda\right) + s'\left(\pi, \lambda\right)\right] \\ & - \left[1 + \omega s\left(\pi, \lambda\right)\right] \cdot \left[-\bar{\omega} + \gamma c\left(\pi, \lambda\right) + c'\left(\pi, \lambda\right)\right] = m\lambda^2 \gamma s\left(\pi, \lambda\right) \\ & + m\lambda^2 s'\left(\pi, \lambda\right) + \alpha\lambda\gamma s\left(\pi, \lambda\right) + \alpha\lambda s'\left(\pi, \lambda\right) + \omega\gamma c\left(\pi, \lambda\right) s\left(\pi, \lambda\right) \\ & + \omega c\left(\pi, \lambda\right) s'\left(\pi, \lambda\right) + \beta\gamma s\left(\pi, \lambda\right) + \beta s'\left(\pi, \lambda\right) + \omega \gamma c\left(\pi, \lambda\right) \\ & - c'\left(\pi, \lambda\right) + \omega \overline{\omega} s(\pi, \lambda) - \omega\gamma s(\pi, \lambda) c(\pi, \lambda) - \omega s(\pi, \lambda) c'(\pi, \lambda) \\ & - c'\left(\pi, \lambda\right) + \omega \overline{\omega} s(\pi, \lambda) - \omega' s(\pi, \lambda) + \left[m\lambda^2 + \alpha\lambda + \beta\right] \gamma s(\pi, \lambda) \\ & + \omega \left[c(\pi, \lambda) s'(\pi, \lambda) - c'(\pi, \lambda) s(\pi, \lambda)\right] - \gamma c(\pi, \lambda) - c'(\pi, \lambda) \\ & + |\omega|^2 \cdot s(\pi, \lambda) + \overline{\omega} = 2Re\omega + |\omega|^2 \cdot s(\pi, \lambda) \\ & + \left[m\lambda^2 + \alpha\lambda + \beta\right] \left(s'\left(\pi, \lambda\right) + \gamma s\left(\pi, \lambda\right)\right) - \gamma c(\pi, \lambda) - c'(\pi, \lambda). \end{split}$$

Denote

$$\eta\left(\lambda\right) = c'\left(\pi,\,\lambda\right) + \gamma \,c\left(\pi,\,\lambda\right)\,, \ \sigma\left(\lambda\right) = s'\left(\pi,\,\lambda\right) + \gamma \,s\left(\pi,\,\lambda\right)\,.$$

Then

$$\Delta(\lambda) = 2Re\omega - \eta(\lambda) + |\omega|^2 s(\pi, \lambda) + (m\lambda^2 + \alpha\lambda + \beta) \sigma(\lambda).$$
(3.3)

**Theorem 3.1** For the eigenvalues  $\mu_k$   $(k = \pm 0, \pm 1, \pm 2, ...)$  of the boundary value problem P for  $|k| \rightarrow \infty$  the following asymptotic formula holds :

$$\mu_k = k - \frac{1}{2} \text{sign}k + a + \frac{A}{m\pi k} + \frac{m_k}{k}, \qquad (3.4)$$

where  $a = \frac{1}{\pi} \int_0^{\pi} p(t) dt$ ,  $A = 1 + m\pi a_1 + m\gamma$ ,  $a_1 = \frac{1}{2\pi} \int_0^{\pi} [q(t) + p^2(t)] dt$ ,  $m_k \in l_2$ .

**Proof.** It is known [10] that the following representations are valid for the functions  $c(\pi, \lambda)$ ,  $c'(\pi, \lambda)$ ,  $s(\pi, \lambda)$  and  $s'(\pi, \lambda)$ :

$$c(\pi,\lambda) = \cos\pi(\lambda-a) - c_1 \frac{\cos\pi(\lambda-a)}{\lambda} + \pi a_1 \frac{\sin\pi(\lambda-a)}{\lambda} + \frac{1}{\lambda} \int_{-\pi}^{\pi} \psi_1(t) e^{i\lambda t} dt,$$

$$c'(\pi,\lambda) = -\lambda \sin \pi (\lambda - a) + c_0 \sin \pi (\lambda - a) + \pi a_1 \cos \pi (\lambda - a) + \frac{1}{\lambda} \int_{-\pi} \psi_2(t) e^{i\lambda t} dt,$$
  

$$s(\pi,\lambda) = \frac{\sin \pi (\lambda - a)}{\lambda} + c_0 \frac{\sin \pi (\lambda - a)}{\lambda^2} - \pi a_1 \frac{\cos \pi (\lambda - a)}{\lambda^2} + \frac{1}{\lambda^2} \int_{-\pi}^{\pi} \psi_3(t) e^{i\lambda t} dt,$$
  

$$s'(\pi,\lambda) = \cos \pi (\lambda - a) + c_1 \frac{\cos \pi (\lambda - a)}{\lambda} + \pi a_1 \frac{\sin \pi (\lambda - a)}{\lambda} + \frac{1}{\lambda} \int_{-\pi}^{\pi} \psi_4(t) e^{i\lambda t} dt,$$

where  $c_0 = \frac{1}{2} [p(0) + p(\pi)], c_1 = \frac{1}{2} [p(0) - p(\pi)], \psi_m(t) \in L_2[-\pi,\pi], m = 1, 2, 3, 4.$ 

From these representations and (3.3) according to the Paley–Wiener theorem [14, p. 69] we obtain that the characteristic function  $\Delta(\lambda)$  of the boundary value problem P has the form

0

$$\Delta(\lambda) = 2Re\omega + m\lambda^{2}\cos\pi(\lambda - a) + \lambda[\sin\pi(\lambda - a) + m\pi c_{1}\cos\pi(\lambda - a) + m\pi a_{1}\sin\pi(\lambda - a) + \alpha\cos\pi(\lambda - a) + m\gamma\sin\pi(\lambda - a)] - c_{0}\sin\pi(\lambda - a) - \pi a_{1}\cos\pi(\lambda - a) - \alpha c_{0}\sin\pi(\lambda - a) + \alpha c_{1}\cos\pi(\lambda - a) - \alpha m\alpha_{1}\sin\pi(\lambda - a) + \beta\cos\pi(\lambda - a) + mc_{0}\gamma\sin\pi(\lambda - a) + \beta\cos\pi(\lambda - a) + mc_{0}\gamma\sin\pi(\lambda - a) - m\gamma\pi a_{1}\cos\pi(\lambda - a) + \alpha\gamma\sin\pi(\lambda - a) + \lambda g_{1}(\lambda) + g_{2}(\lambda) = m\lambda^{2}\cos\pi(\lambda - a) + \lambda[(1 + m\pi a_{1} + m\gamma)\sin\pi(\lambda - a) + (mc_{1} + \alpha)\cos\pi(\lambda - a) + g_{1}(\lambda)] + (\alpha\pi a_{1} - c_{0} + mc_{0}\gamma + \alpha\gamma)\sin\pi(\lambda - a) + (\alphac_{1} - \pi a_{1} - \gamma + \beta - m\gamma\pi a_{1})\cos\pi(\lambda - a) + g_{2}(\lambda) + 2Re\omega,$$
(3.5)

where

$$g_j(\lambda) = \int_{-\pi}^{\pi} \tilde{g}_j(t) e^{i\lambda t} dt, \, \tilde{g}_j(t) \in L_2[-\pi;\pi], \, j = 1, \, 2.$$

We denote by  $\Gamma_n$  the contour bounding the square

$$K_n = \{\lambda : |Re\lambda - a| \le n, |Im\lambda| \le n\}.$$

By virtue of relation (3.5) we have

$$\Delta(\lambda) = f(\lambda) + g(\lambda),$$

where  $f(\lambda) = m\lambda^2 \cos \pi (\lambda - a)$ ,

$$g(\lambda) = \lambda[(1 + m\pi a_1 + m\gamma)\sin\pi(\lambda - a) + (mc_1 + \alpha)\cos\pi(\lambda - a) + g_1(\lambda)] + (\alpha\pi a_1 - c_0 + mc_0\gamma + \alpha\gamma)\sin\pi(\lambda - a) + (\alpha c_1 - \pi a_1 - \gamma + \beta - m\gamma\pi a_1)\cos\pi(\lambda - a) + g_2(\lambda) + 2Re\omega.$$

It is easy to prove that the inequality  $|f(\lambda)| > |g(\lambda)|$  holds on  $\Gamma_n$  for sufficiently large n. Then, by Rouché's theorem the square  $K_n$  contains the same number of zeros  $\Delta(\lambda)$  and  $f(\lambda)$ , i.e. 2n + 2 zeros. Using representation (2.13) and Rouche's theorem, it is easy to establish that the roots  $\mu_k$   $(k = \pm 0, \pm 1, \pm 2, ...)$  of the equation  $\Delta(\lambda) = 0$  for  $|k| \to \infty$  obey the asymptotics

$$\mu_k = k - \frac{1}{2} \operatorname{sign} k + a + \varepsilon_k, \qquad (3.6)$$

where  $\varepsilon_k = O(k^{-1})$ . Taking into account the asymptotics (3.6) and the expansions  $\cos x = 1 + O(x^2)$ ,  $\sin x = x + O(x^3)$ ,  $\frac{1}{1-x} = 1 + x + O(x^2)$  ( $x \to 0$ ), we have

$$\sin \pi \left(\mu_k - a\right) = (-1)^k \sin \pi \left(-\frac{1}{2} \mathrm{sign}k + \varepsilon_k\right) = (-1)^{k+1} \mathrm{sign}k \cos \pi \varepsilon_k$$
$$= (-1)^{k+1} \mathrm{sign}k + O\left(\frac{1}{k^2}\right), \qquad (3.7)$$

$$\cos \pi \left(\mu_k - a\right) = \left(-1\right)^k \cos \pi \left(-\frac{1}{2} \operatorname{sign} k + \varepsilon_k\right) = \left(-1\right)^k \operatorname{sign} k \sin \pi \varepsilon_k$$

$$= (-1)^k \, \pi \varepsilon_k \mathrm{sign}k + O\left(\frac{1}{k^3}\right), \tag{3.8}$$

$$\frac{1}{\mu_k} = \frac{1}{k\left(1 - \frac{1}{2k}\operatorname{sign}k + \frac{a}{k} + \frac{\varepsilon_k}{k}\right)} = \frac{1}{k}\left[1 + \frac{1}{2k}\operatorname{sign}k - \frac{a}{k} + O\left(\frac{1}{k^2}\right)\right]$$
$$= \frac{1}{k} + O\left(\frac{1}{k^2}\right). \tag{3.9}$$

Moreover, using Lemma 1.4.3 in [16], we obtain the asymptotics

$$g_j(\mu_k) = \theta_{jk} + \frac{\rho_{jk}}{k}, \qquad (3.10)$$

where  $\{\theta_{jk}\}, \{\rho_{jk}\} \in l_2, j = 1, 2$ . Substituting (3.6) into  $\Delta(\mu_k) = 0$  and taking into account relations (3.7) - (3.10), we obtain the asymptotics

$$\varepsilon_k = \frac{A}{m\pi k} + \frac{m_k}{k}, m_k \in l_2.$$
(3.11)

Then from (3.6) by virtue of (3.11) the asymptotic formula (3.4) follows.

The theorem is proved.

## References

- 1. Akhtyamov, A.M.: Identification theory of boundary value problems and its applications, *Fizmatlit, Moscow* (2009) (in Russian).
- 2. Ala, V., Mamedov, Kh.R.: On a discontinuous Sturm-Liouville problem with eigenvalue parameter in the boundary conditions, Dynam. Systems Appl. 29, 182–191 (2020).
- Binding, P.A., Browne, P.J., Watson, B.A.: Equivalence of inverse Sturm-Liouville problems with boundary conditions rationally dependent on the eigenparameter, J. Math. Anal. Appl. 291, 246–261 (2004).
- 4. Demirbilek, U., Mamedov, Kh.R.: On the expansion formula for a singular Sturm-Liouville operator, Journal of Science and Arts, 1(54), 67-76 (2021).
- 5. Freiling, G., Yurko, V.A.: Inverse Sturm-Liouville problems and their applications, NOVA Science Publishers, New York (2001).
- 6. Freiling, G., Yurko, V.: *Recovering nonselfadjoint differential pencils with nonseparated boundary conditions*, Appl. Anal. **94**(8), 1649–1661 (2015).
- Gasimov, T.F.: Asymptotics of the eigenvalues and eigenfunctions of a non-self-adjoint problem with a spectral parameter in the boundary condition, J. Contemp. Appl. Math. 11(2), 11–22 (2021).
- Gasymov, M.G., Guseinov, I.M., Nabiev, I.M.: An inverse problem for the Sturm-Liouville operator with nonseparable self-adjoint boundary conditions, Sib. Math. J. 31(6), 910–918 (1990).
- Guliyev, N.J.: Essentially isospectral transformations and their applications. Ann. Mat. Pura Appl. 199, 1621–1648 (2020).
- Guseinov, I.M., Nabiev, I.M.: An inverse spectral problem for pencils of differential operators, Sb. Math. 198(11–12), 1579–1598 (2007).
- 11. Ibadzadeh, Ch. G., Nabiev, I. M.: An inverse problem for Sturm–Liouville operators with nonseparated boundary conditions containing the spectral parameter, J. Inverse Ill-Posed Probl. **24**(4), 407–411 (2016).
- 12. Ibadzadeh, Ch. G., Nabiev, I. M.: *Reconstruction of the Sturm–Liouville operator* with nonseparated boundary conditions and a spectral parameter in the boundary condition, Ukr. Math. J. **69**(9), 1416–1423 (2018).
- 13. Kerimov, N.B., Mamedov, Kh.R.: On a boundary value problem with a spectral parameter in boundary conditions, Sib. Math. J. **40**(2), 281–290 (1999).
- 14. Levin, B.Ya.: Lectures on entire functions, *Transl. Math. Monogr. 150 Amer. Math. Soc. Providence, RI* (1996).
- Mammadova, L.I., Nabiev, I.M.: Spectral properties of the Sturm–Liouville operator with a spectral parameter quadratically included in the boundary condition, Vestnik Udmurtskogo Universiteta. Matematika. Mekhanika. Komp'yuternye Nauki. 30(2), 237–248 (2020) (in Russian).
- 16. Marchenko, V.A.: Sturm–Liouville operators and applications, AMS Chelsea Publishing, Providence, RI (2011).
- Menken, H., Demirbilek, U., Mamedov, Kh.R.: On the asymptotic formulas for eigenvalues and eigenfunctions of a quadratic differential pencil problem, J. Math. Anal. 9(6), 106-114 (2018).
- 18. Möller, M., Pivovarchik, V.: Spectral Theory of Operator Pencils, Hermite-Biehler Functions, and their Applications, *Birkhauser, Cham* (2015).
- 19. Sadovnichii, V.A., Sultanaev, Y.T., Akhtyamov, A.M.: *Inverse problem for an operator* pencil with nonseparated boundary conditions, Dokl. Math. **279**(2), 169–171 (2009).
- Yang, Ch.-F., Bondarenko, N.P., Xu, X.-Ch.: An inverse problem for the Sturm-Liouville pencil with arbitrary entire functions in the boundary condition, Inverse Probl. Imaging. 14(1), 153–169 (2020).

21. Yurko, V.A.: Inverse spectral problems for differential operators with non-separated boundary conditions, J. Inverse Ill-Posed Probl. **28**(4), 567–616 (2020).